
ATD-6559
Masking Film Dispenser

Owner’s Manual

Features:

Made in China to ATD Tools, Inc. Specifications

Visit us at www.atdtools.com



1. Ensure that you have all the parts upon opening your unit.
     Listed in the order as shown above:

     (2) Wheels
     (1) Hardware set containing: 

           (1) Knob  (1) Lower Vertical Tube

           (3) M8 Lock Nuts (1) Upper Vertical Tube

           (3) M8 Bolts  (1) Upper Film Holder

           (3) M8 Washers  (1) Lower Film Holder (Base)

           (2) M10 Bolts

2. Attach the Wheels to the Lower Film Holder (Base) using the M10 Bolts

3. Attach Lower Vertical Tube to the Lower Film Holder (Base) 

    using an M8 Bolt, Washer and Lock Nut.

4. Slide the Upper Vertical Tube into the Lower Vertical Tube and

     secure with an M8 Bolt, Washer and Lock Nut.

5. Slide Upper Film Holder over the Upper Vertical Tube as shown.

    Secure with the Knob. The Knob can be loosened so that the Upper
    Film Holder can slide to adjust for your film roll. Be usre to tighten

    the Knob after loading your film roll.

6. Assembled unit.

ATD-6559 Assembly Instructions



1

2

3

4

5
6

7

8

9

10

5
5

6
6

48

ATD-6559

ITEM# ORDERING PART# PART DESCRIPTION
PRT6 -0 UPPER ILM OLDER

2 PRT6 - NOB
3 PRT6 -03 UPPER VERTICAL TUBE

PRT6 - LOC NUT (M )
PRT6 - BOLT (M )

6 PRT6 - WA ER (M )
7 PRT6 -07 LOWER VERTICAL TUBE

PRT6 - BOLT (M 0)
PRT6 -0 W EEL

0 PRT6 - 0 LOWER ILM OLDER (BA E)



 
WARRANTY 
  1 YEAR LIMITED WARRANTY   

 
THIS WARRANTY AND CONFIRMED RECEIPT(S) SHOULD BE RETAINED BY THE CUSTOMER AT ALL TIMES     

  

   

INVOICE/RECE   


